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Vectors Day 1 Assignment Name: "%\l@,{j/ Date: Period:

1. Listed below are the initial points and endpoints for vectors u and v.

e Sketch the vectors.

e Determine the direction of the direction of the vectors.

e Find the magnitude of the vectors.
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Sketch each vector as a position vector and find its magnitude.
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Let v be the vector from initial point Py to terminal point Py. Write v in terms of i and j.

3. Pi=(4,-4),P,=(6,2)
V=(b=-4)L +(a“4)6/ = 0L +C08,
</0,U>

4. Py=(-7,-4),P,=(0,-2) B ‘ +9j
V=10 0-~T) +{- 2——436, it
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5. Py=(-3,4),P,=(6,4)
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6. P1=(4,-5),P,=(4,3)
V=4 -4) + (3--5),
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7. P1=(-8,6), P2=(-2,3)
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Vectors Worksheet Day 2 Name: Ké‘/ Date: Period:

Prove that RS and ﬁj are equivalent by showing that the represent the same vector.

1. R=(4.7), S=(-1.5), P=(0,0). and Q = (3. -2)

RSz G-y 5= PQ - {3-0,-2-0> B[ = (3% 2y - J—B_
={3,-2) ={3,-2) e

2. 2.R=(7,-3), S=(4,-5), P=(0,0), and Q = (-3, -2)
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LetP=(-2,2), Q=(3,4), R=(-2,5), and S = (2,8). Find the component form and magnitude of the vector.
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Letu=(=1,3),v=(2,4), w=(2,—5). Find the component form of the vector.

8. utv 9. u-w
1,354 <45 <“\.?>>-<2_'-5>
<||j> <3,
10. 2u + 3w 11. -2u-3v
241,35 +3(2-5) 21,35 -3AY )
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Letu=<2,-5> v=<37>andw=<-1,6>, Find each specified vector or scalar.

12. 4w —-2v + 3u

14-1,6>-243,9543¢2,-5>
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